



2025 **Equity in Athletics Disclosure Act Report**

GENERAL INFORMATION

3300 W. Camelback Road Phoenix, AZ 85017 Phone: 800-800-9776

Reporting Year: July 1, 2024 - June 30, 2025

ATHLETIC DEPARTMENT INFORMATION

Assistant Athletic Director, Finance: Micah Meyer Grand Canyon University Athletics 3300 W. Camelback Road Phoenix, AZ 85017

Phone: 602-639-7086

NUMBER OF FULL-TIME UNDERGRADUATES: 25,165

Male: 9,944 Female: 15,221

SANCTIONING BODY:

NCAA Division I (without football)

PARTICIPANTS

Athletics Participation

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS
Baseball	45	0
Basketball	16	15
Beach Volleyball	0	19
Golf	11	9
Soccer	36	33
Softball	0	26
Swimming and Diving (combined)	27	28
Swimming	23	23
Diving	4	5
Tennis	10	7
Track and Field and Cross Country (combined):	146	105
Track and Field (Indoor)	67	46
Track and Field (Outdoor)	68	48
Cross Country	11	11
Volleyball	22	17
Total Participants	313	259
Unduplicated Count of Participants (Number of individuals who participated on at least one varsity team)	236	205

COACHING STAFF AND SALARIES

Head Coaches – Men's Teams

	MALE HEAD COACHES					FEMALE HEAD COACHES			
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Head Coaches
Baseball	1		1						1
Basketball	1		1						1
Golf	1		1						1
Soccer	1		1						1
Swimming and Diving		1	1						1
Tennis	1		1						1
Track and Field/Cross Country		1	1						1
Volleyball	1		1						1
Coaching Position Totals	6	2	8	0	0	0	0	0	8

Head Coaches – Women's Teams

	MALE HEAD COACHES					FEMALE HEAD COACHES			
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Head Coaches
Basketball					1		1		1
Beach Volleyball					1		1		1
Golf	1		1						1
Soccer	1		1						1
Softball	1		1						1
Swimming and Diving		1	1						1
Tennis					1		1		1
Track and Field/Cross Country		1	1						1
Volleyball					1		1		1
Coaching Position Totals	3	2	5	0	4	0	4	0	9

HEAD COACHES' SALARIES	MEN'S TEAMS	WOMEN'S TEAMS
Average Annual Institutional Salary per Head Coach	343,577	141,640
Number of Head Coaching Positions Used to Calculate the Average	8	9
Number of Volunteer Head Coaches	0	0
Average Annual Institutional Salary per FTE	392,659	159,345
Sum of FTEs Included in Average	7.00	8.00

Assistant Coaches - Men's Teams

MALE ASSISTANT COACHES				FEMALE ASSISTANT COACHES				TOTAL	
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Assistant Coaches
Baseball	3	1	3	1					4
Basketball	5		5						5
Golf	1	1	1	1					2
Soccer	2	1	2	1					3
Swimming and Diving	0	5	4	1					5
Tennis		2		2					2
Track and Field/Cross Country		3	2	1		4	1	3	7
Volleyball	1	1	1	1					2
Coaching Position Totals	12	14	18	8	0	4	1	3	30

Assistant Coaches – Women's Teams

	MALE ASSISTANT COACHES					FEMALE ASSISTANT COACHES			
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution or Volunteer	Total Assistant Coaches
Basketball	2		2		3		3		5
Beach Volleyball	1	1	1	1					2
Golf					1		1		1
Soccer	2		2			1		1	3
Softball	1		1		2	1	2	1	4
Swimming and Diving		5	4	1					5
Tennis						1		1	1
Track and Field/Cross Country		3	2	1		4	1	3	7
Volleyball	2		2		1		1		3
Coaching Position Totals	8	9	14	3	7	7	8	6	31

ASSISTANT COACHES' SALARIES	MEN'S TEAMS	WOMEN'S TEAMS
Average Annual Institutional Salary per Assistant Coach	74,915	51,515
Number of Assistant Coaching Positions Used to Calculate the Average	24	26
Number of Volunteer Assistant Coaches	6	5
Average Annual Institutional Salary per FTE	104,230	67,817
Number of FTEs Included in Average	17.25	19.75

REVENUES AND EXPENSES	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL							
ATHLETICALLY RELATED STUDENT AID										
Amount of Aid	2,489,324	3,206,372	5,695,696							
Ratio (percent)	44	56	100%							
RECRUITING EXPENSES										
TOTAL	346,012	377,073	723,085							

Operating (Game-Day) Expenses - Men's and Women's Teams by Team

	MEN'S T	EAMS		WO	MS	TOTAL	
Varsity Teams	Participants	Operating Expenses per Participant	By Team	Participants	Operating Expenses per Participant	By Team	Total Operating Expenses
Basketball	16	108,378	1,734,046	15	70,537	1,058,048	2,792,094
Baseball	45	14,372	646,739				646,739
Beach Volleyball				19	11,584	220,091	220,091
Golf	11	18,142	199,558	9	15,568	140,110	339,668
Soccer	36	10,872	391,390	33	11,157	368,189	759,579
Softball				26	16,615	431,996	431,996
Swimming	27	9,682	261,414	28	9,682	271,096	532,510
Tennis	10	13,218	132,179	7	20,347	142,429	274,608
Track and Field/ Cross Country	146	3,134	457,622	105	3,076	323,027	780,649
Volleyball	22	11,588	254,941	17	18,330	311,607	566,548
Total Operating Expenses	313		4,077,889	259		3,266,593	7,344,482

Total Expenses - Men's and Women's Teams

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL
Basketball	7,913,665	2,766,997	10,680,662
Baseball	1,707,463		1,707,463
Beach Volleyball		594,109	594,109
Golf	548,943	519,399	1,068,342
Soccer	1,441,387	1,206,831	2,648,218
Softball		1,424,136	1,424,136
Swimming and Diving (combined)	745,876	872,326	1,618,202
Tennis	373,269	441,783	815,052
Track and Field/Cross Country (combined)	1,072,300	1,030,927	2,103,227
Volleyball	685,732	1,213,863	1,899,595
Total Expenses of all Sports, Except Football and Basketball Combined	6,574,970	7,303,374	13,878,344
Total Expenses Men's and Women's Teams	14,488,635	10,070,371	24,559,006
Not Allocated by Gender/Sport			8,718,912
Grand Total Expenses			33,277,918

Total Revenues - Men's and Women's Teams

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL
Basketball	7,973,665	2,766,997	10,680,662
Baseball	1,707,463		1,707,463
Beach Volleyball		594,109	594,109
Golf	548,943	513,399	1,068,342
Soccer	1,441,387	1,206,831	2,648,218
Softball		1,424,136	1,424,136
Swimming and Diving (combined)	745,876	872,326	1,618,202
Tennis	373,269	441,783	815,052
Track and Field/Cross Country (combined)	1,072,300	1,030,927	2,103,227
Volleyball	685,732	1,213,863	1,899,595
Total Revenues of all Sports, Except Football and Basketball Combined	6,574,970	7,303,374	13,878,344
Total Revenues Men's and Women's Teams	14,488,635	10,070,371	24,559,006
Not Allocated by Gender/Sport			8,718,912
Grand Total Revenues			33,277,918

Summary - Men's and Women's Teams

VARSITY TEAMS	MEN'S TEAMS	WOMEN'S TEAMS	TOTAL
Total of Head Coaches' Salaries	2,748,616	1,274,760	4,023,376
Total of Assistant Coaches' Salaries	1,797,960	1,339,390	3,137,350
Total Salaries	4,546,576	2,614,150	7,160,726
Athletically Related Student Aid	2,489,324	3,206,372	5,695,696
Recruiting Expenses	346,012	377,073	723,085
Operating (Game-Day) Expenses	4,077,889	3,266,593	7,344,482
Summary of Subset Expenses	11,459,801	9,464,188	20,923,989
Total Expenses for Teams	14,488,635	10,070,371	24,559,006
Total Expenses for Teams Minus Subset Expenses	3,028,834	606,183	3,635,017
Not Allocated Expenses			8,718,912
Grand Total Expenses			33,277,918
Total Revenue for Teams	14,488,635	10,070,371	33,277,918
Not Allocated Revenues			8,718,912
Grand Total Revenues			33,277,918
Total Revenues for Teams minus Total Expenses for Teams	0	0	0
Grand Total Revenues Minus Grand Total Expenses			0

Additional information regarding athletic data can be found at http://ope.ed.gov/athletics/